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Topic:- General Knowledge

1) Airports Authority of India (AAI) is going to set up state-of-the-art Civil Aviation Research Organization
(CARO) at .

ST

1. Delhi / feeat
2. Patna / GcHl

3. Hyderabad / %azla Q

4. Lucknow / TRI13H

Correct Answer :-

» Hyderabad / %azla Q

2) The power ministry is considering which temperature as default setting for air conditioners in India? /
foTelt wamera, URd ® TR IR & e f6g aruwr= & fEwice Afdn 3g o A e ver 82

1. 30 degrees Celsius / 30 IERIRIIRSRES]

2. 18 degrees Celsius / 18 St afcay

3. 20 degrees Celsius / 20 St afcray

4. 24 degrees Celsius / 24 TSI I

Correct Answer :-

o 24 degrees Celsius / 24 oo Afcas

3) The Deori Gharial Rearing Centre in Madhya Pradesh is located at the .
AW A qadt uisua Rafmrder . dfRm@3RI

1. Ghatigoan Sanctuary / gfeTia 3aRg

2. National Chambal Sanctuary / TI'EE,\‘THW HHIRTY

3. Son Gharial Sanctuary / = ‘aﬁ;ma SHHIRTY

4. Ken Gharial Sanctuary /%ﬂ%’q’lﬁ SHIRTg

Correct Answer :-

» National Chambal Sanctuary / ?TQj'q T AHIRTY



Who was the other Indian who received the 2018 Ramon Magsaysay Award with Bharat Vatwani? /

5 3 YRR B YRA deari & A1y 2018 Y0 AR RBR A et foam a4t 2
1. Anshu Gupta / 3= TG

2. Sanjiv Chaturvedi / Totta aﬂﬁ

3. Deep Joshi / LRSIl

4. Sonam Wangchuk / BSIRL] CIRECE

Correct Answer :-

+ Sonam Wangchuk / -y ClNECa

5) Who was the first Indian woman to win an Olympic medal? /

e Uge Siiaa arelt UyH YRR Afger o 4t 2
1. Karnam Malleswari / S0fH TeeryR_T

2. Sakshi Malik / 9T&f! Afeie

3. P.V. Sindhu / 0. ot Rig

4. Saina Nehwal / 9Tl ﬁ_ﬁﬂ'ﬂ

Correct Answer :-

o Karnam Malleswari / HUH W%Iﬁ

6) The Vidisha region in Madhya Pradesh was named after the wife of which famous Emperor? /

Ay H fafd=m &= &1 94 f5a yRig I9Te &1 Uell & A1 U= 361 /T 12
1. Gautamiputra Satakarni / m Tcfanfof
2. Aurangzeb / TS

3. Akbar / H R
4. Ashoka / 37N

Correct Answer :-

« Ashoka / NP

7) The Heliodorus pillar in Vidisha is dedicated to which God? /
fafemn & efrsisivw Wy fPw W ot aafta g2

1. Lord Vishnu / 'J-F'Ia'l:fﬁml

2. Lord Sun/ 'HTIH'I:T@

3. Lord Indra / HITdH g

4. Lord Shiva / HiTdT G

Correct Answer :-

« Lord Vishnu / HiTaT fasg]



8) The Techno-economic appraisal of irrigation, flood control and multipurpose projects is conducted by
/

SIGIE

1. Ministry of Science and Technology / fasm 3R YNt Harerg

2. Ministry of New and Renewable Energy / T 3R Tdiemrofig Swit ware
3. Ministry of Drinking Water and Sanitation / Yot 3R W5 al Harad

4. Central Water Commission / &1 ofcl AT

Correct Answer :-

« Central Water Commission / W ST STINT

9) The language recognized by the constitution is mentioned in which schedule? /

5 SR ® S gRT AT=IaT U TS T Sea fear T g
1. 7% Schedule / 79 SFTgET
2. 9™ Schedule / 931 3‘@@
3. 6% Schedule / 631 ST
4. 8™ Schedule / 8% ST

Correct Answer :-

. 8™ Schedule / 891 ST

10) The Central Government in May 2018 has approved the establishment of National Institute of Mental Health
Rehabilitation (NIMHR) in which city? /

%@%sggwwﬁﬂ@nmmwhﬁm@%ﬁmmaﬁmﬁmwﬁ

1. Indore / s_caT

2. Jabalpur / SI§CTYR
3. Gwalior / eI

4. Bhopal / T

Correct Answer :-

« Bhopal / wara

11) The Indian Government has signed $375 loan agreement with for improving irrigation efficiency in
Madhya Pradesh. /

A U A RS AT A QUR F RUHRAWSRA _ F 1Y $ 375 BUT A W &R fPU ]
1. Asian Development Bank / UfRMTS A& o

2. World Bank / fay §&

3. United Nations Development Programme / §ge 1§ Y fdehrg HrishH



4. BRICS / fsig

Correct Answer :-

. Asian Development Bank / TS g d%

12) Madhya Pradesh becomes the first Indian state to create which of the following departments in 2016? /

2016 ¥ 74 v W FAufefad A @ 919 9 fAURT ) 3911 91aT ugdar ¥R 359 §4912
1. Mines / 9dTq
2. Medical Education / FaIforcity fRreqm

3. Aviation / 38U
4. Happiness / 3G

Correct Answer :-

« Happiness / 3H¢&

13) Other than Bhopal, Gwalior, Jabalpur, Indore, Ujjain and Satna, which of the following cities is monitored
through the Integrated Control and Command Centre (ICCC) in Madhya Pradesh? /

HUTe, TEIRMAR, SAAYR, §41R, It 3R Ja-1 & 3ramar, fFaferf@a ol # @ faw v vew § uaipa
fRra=ror 3R HHH Fex (SRR F wrerw A FIRE @ St 32

1. Sagar / IR
2. Panna / Ul
3. Rewa / Xdl

4. Satna / Id-Tl

Correct Answer :-

o Sagar/9NNR

14) Article ____ of the Constitution deals with the Appointment of Governor. /
GICEIEET) e, IeauTd ot FgfeT S w&fta g1

1. 164

2.155

3.163

4.175

Correct Answer :-

« 155

15) Name the location in Madhya Pradesh where the War Memorial ‘Shaurya Smarak’ was inaugurated. /
Hmmﬁwmmﬂmm,wgaw T SRS WWWW YTl
1. Indore / 33 N



2. Jabalpur / SI§¢TYR
3. Bhopal / e

4. Satna / gd-Tl

Correct Answer :-

« Bhopal / uard

16) Name the Indian sports personality who was awarded the Bharat Ratna in 2014. /

I URAH fEarSt &1 =10 ga13¢ forg 2014 § HRE I & [wnf=a favan war 4t
1. Sachin Tendulkar / Ffe ?Iw

2. Dhyan Chand / T T+

3. P.T. Usha / 0.8 QW1

4. Milkha Singh / e fig

Correct Answer :-

« Sachin Tendulkar / 9fe ﬁw

17) Name the mosque in Bhopal known as ‘The Crown of Mosques’ and is also the largest in India./
WuTe A fg Afg @) /f%Te & d1el $ T ST SITdT & 3R I8 HIRd | i T 981 Afdie 21
1. Jama Masjid / STTHT ARSIG

2. Malik Mughis Mosque / Tferen H"'ﬂg R

3. Moti Masjid / A ARSIG

4. Taj-Ul-Masajid / ITS-3-AfIG

Correct Answer :-

« Taj-Ul-Masajid / AT9-3d-ARNIG

18) Which of the following is correctly matched? /

frafafea 4 9 o= T gw ag 82

1. Mount Diavolo — South Andaman Island / AT3¢ SRAId! — GIa0T S8 gIY
2. Mount Thullier — Middle Andaman Island / AT3¢ YfaR — AL ST gIY
3. Mount Koyob — Great Nicobar / Arde ®IAe - U PR

4. Saddle Peak — North Andaman Island / 98 Ui& - IR 3fSHA ¢IT

Correct Answer :-

« Saddle Peak — North Andaman Island / ISd e — IR ISHE g1

19) Which one of the following is regarded as the first blueprint of Indian planning process? /

fFrafafae 3 | o yrdia afemr ufvar & vyyw sgfife & wu & g g2
1. FICCI proposal / fihad! UwdTd



2. Bombay plan / CESKISE
3. Congress plan / HI grorT
4. Visvesvaraya plan / o are

Correct Answer :-

« Visvesvaraya plan / AT g

20) In July 2018, Anjolie Ela Menon has been conferred which prestigious award by the Madhya Pradesh
Government for visual arts? /

gmgzmsﬁ',mmmﬁnwmwmmwa?mﬁmmmﬁwﬁa%m
AT e

1. Shikar Award / TRIRER 0=

2. Tulsi Award / T\‘K’Fﬁ HH

3. Kalidas Samman / BTGy G
4. Kabir Award / HaR G

Correct Answer :-

« Kalidas Samman / BTG THTH

Topic:- General Hindi

1) F-Sf TR fadd e
1. fam
2.7
3. H g
4.

Correct Answer :-

2) Byt - &1 9 & @ P17 a1 9 faeiv ws 82
1. DR
2. BT
3. BRA
4. B

Correct Answer :-

3) Sl - 1 g A A F19 91 98 faaw g 82
1. ®fq



2. PBid
3. Hal
4. Hal

Correct Answer :-

4) wftredq - & forg @ <l faede =1 gfvw
1. e ag

2. 9efl+evg

3. Afdwg

4. QiDe

Correct Answer :-

. Tfwe

5) offYr - ST A s g Fa A A P AT 32
1. 3feftad

2. ey

3. 3fiad

4. 3eftayf

Correct Answer :-

6) draTar - & fw & A B w1 A 32
1. HHYRY TR

2. Gg gAY

3. Sgsiife TN

4. fgr9a

Correct Answer :-

7) A PG TU A A AP 2
1. Qcleat
2. Tlfed
3. RIdTeG!
4. Ysdl

Correct Answer :-



8) WeT & fore udt watfardt ara 2reqi @1 ufda &1 gfAg|
1. 31%, g, STSit
2. 31T, g4, qil
3. YT, B, I
4. 34T, B, T

Correct Answer :-

. 3%, Y, Foi

4. DA

Correct Answer :-

10) QR TP HTH B AT & 0 TP T R A A S ATR?
1. digat
2. e

3. GrOgAT
4. faag

Correct Answer :-

11) YT T - YTaR &1 3 P fapeai A A AT 2
1. g & 3dd HId gl

2. OH-§ R fH a1d WR &= A 31

3. Teb B ®IM R TS TGl

4. 3T H X8 TH T

Correct Answer :-

- STH-§ R fob el ST TR e =1 G

12) 3F - YT A §1 Vg R A A pIH AT R?

1. HTHAT



2.%e
3. 3T

4. S{TETET

Correct Answer :-

13) TS & forg W) yatgard are wsgi &1 ufea &1 g
1. HR, 3RV, HH|

2. PR, 3RS, hA|
3. 9, 3RS, HIH|
4., 3RVY, BT

Correct Answer :-

. T, 3RUY, HI|

14) TAGIATL F1 5 U H T BT 32
1. HA:hTHAT

2. TAEHHM

3. AATGHIEAT

4. AATGHTHAT

Correct Answer :-

o TSI

15) AT - BT AHHTYS favg Fad A s arg?
1. U AW

2. X1 o

3. X BT 3

4. M H1 g8

Correct Answer :-

o YW DT 3

16) 3¢ - & fore wEt Wit fawde &1 gfw)
1. 3+3¢

2. 3+ TG

3. 3F1+9G

4. 3+DQ

Correct Answer :-



17) Waw &1 diaa foan, wife e 3@ |

Wi sy s &, Ap A eifa a1 - A P A IS
1. 9

2. A ™

3. AT I

4. PR

Correct Answer :-

18) ol fdhfdor Tqr yfr g

$ed a@ 94, 9 g4 YA | - T g A | 19 91 SeipR 82
1. XAV ABR

2. JHP AABR

3. U 3TDR

4. IUHT 3ABR

Correct Answer :-

19) 3fT AT qUUT AR

e o Wit iR ag WS, a1 drer" 7 yerad 9l | - A P A e AR
1. A"

2. oY T

3. IR

4. HOUY

Correct Answer :-

20) FF HAD d I I, ATGHAT TUBTI |

9 @ §RTd O, a1 UT¢ §R1E | - § A9 # | 319 97 3[6PR 82
1. RAY 3ABR

2. JHP AABR

3. 3JUN 3IPR

4. JUHT 3APR

Correct Answer :-



Topic:- General English

1) Choose the option that correctly sequences the following sentences:

. She looked into the fridge to see if there was something nice to eat.
. She did not find anything nice to eat there.

. Mary was hungry after doing her work.

. She ordered a pizza and drank some milk.

B W N -

1.3124
2.2413
3.3142

4.4321

Correct Answer :-

. 3124

2) Choose the correct form of modal auxiliary verb for the given sentence:

I wonder why she ignored me when we met in the hallway. Do you think she _ have not recognized me?
1. should

2. might

3.can

4, will

Correct Answer :-

« might

3) Choose the word that is opposite in meaning to the highlighted word given below:
Kishen is a noted personality in the locality.

1. prominent

2. welcome

3. obscure

4, notorious

Correct Answer :-

 obscure

4) Choose the appropriate conjunction for the given sentence:

He ironed his formal shirt the previous day he need not have to do it on the day of the interview.

1. so that



2. but
3. such that
4. when

Correct Answer :-

« so that

5) Choose the appropriate prepositions for the given sentence:

Itwas __ midnight when three cars dropped ____ the passengers and disappeared.
1. during, away

2. in, out

3. around, off

4. on, down

Correct Answer :-

« around, off

6) Choose the option that best transforms the given sentences into one.
This is my cousin. His name is Anil.

1. Anil is his cousin brother.

2. This was my cousin brother Anil.

3. This is my cousin, Anil.

4. He is not my cousin brother Anil.

Correct Answer :-
« This is my cousin, Anil.

7) Spot the error in the given sentence and choose the option that rectifies it.
If I have wings, I would fly.

1. If T have wings, I will fly.

2. If T had wings, I would fly.

3. If T had wings, I would have fly.

4. If I had wings, I will fly.

Correct Answer :-

« IfI had wings, I would fly.

8) Choose the appropriate option that changes the given sentence into passive voice.
Somebody hit the dog with a stick.

1. The dog was hit with a stick.



2. The dog will be hit by a stick.
3. Somebody was hit by a stick.
4. Somebody was hit with a stick.

Correct Answer :-

» The dog was hit with a stick.

9) Choose the appropriate form of the tense for the given sentence.
If it , we will cancel the party.

1. were raining

2. rain

3. rains

4, rained

Correct Answer :-

e rains

10) Choose the appropriate form of the tense for the given sentence.

The vacation ____ next month. We ____ to the Alps. Our tickets are booked.
1. starts, goes

2. starts, are going

3. will start, will be gone

4. will starts, will go

Correct Answer :-
« starts, are going

11) Choose the appropriate preposition phrase to complete the given sentence.
Let us not the fact that the child is missing.

1. overbear
2. over bear
3. over-look
4. overlook

Correct Answer :-

« overlook

12) Choose the most suitable determiner for the given sentence.
the people are untrustworthy.

1. Some of

2. Some



3. Any of
4. Many

Correct Answer :-

¢ Some of

13) Choose the option with the appropriate prefix to complete the given sentence.

The seven year old child is rude and __ polite; he does not know how to speak to elders.
1. mis-

2. un-

3. im-

4. dis-

Correct Answer :-

14) Choose the option that best punctuates the given sentence:
May I have a glass of juice instead of water asked the passenger
1. “May I have, a glass of juice instead of water, “asked the passenger.
2. “May I have a glass of juice instead of water?”” asked the passenger.
3. “May I have a glass of juice , instead of water” asked the passenger.

4. “May I, have a glass of juice instead of water” asked the passenger

Correct Answer :-

« “May I have a glass of juice instead of water?”” asked the passenger.

15) Choose the option that best transforms the given sentence into active voice:
The lock had been opened using a hairpin and the lights were switched on.

1. A hairpin had been used to opened the lock and the lights were switched on

2. A hairpin was used to open the lock and someone had switched on the lights.

3. A hairpin was opened to use the lock and the lights were switched on.

4. A hairpin was opening using the lock and the lights were switched on.

Correct Answer :-

A hairpin was used to open the lock and someone had switched on the lights.

16) Choose the option that best explains the highlighted expression:
These tickets to the cricket match cost us an arm and a leg!

1. proved to be worthless
2. to be very expensive

3. caused physical injury



4. involved a big fight

Correct Answer :-
« to be very expensive

17) Choose the correct form of verb that is in agreement with the subject:

Resentment between the two warring parties _____ so great that they _____ ready to fight it out with sticks and stones.
1. was, were

2. has, was

3. is, was

4. are, were

Correct Answer :-

o was, were

18) Choose the correct form of the verb from the following options in the given sentence:
They for more than two hours.

1. wait

2. waiting

3. have been waiting

4. has been waiting

Correct Answer :-
« have been waiting

19) Choose appropriate articles for the given sentence:

Friendship is
association.

relationship of mutual affection between people and is stronger form of interpersonal bond than

1. the, the, a
2. an, the, a
3. a,a, the
4. a, a, an

Correct Answer :-

20) Choose appropriate articles for the given sentence:

Natureis ____ best example of perfect discipline, as every element in it moves according to ___strictly-regulated plan.
l.a,a

2. a, the

3.4a,an



4. the, a

Correct Answer :-

o the, a

Topic:- General Mathematics

1) Express 486 as a product of powers of prime factors. /
YT U B UTd & UMHA & U H 486 DI T B |
1, %2

2. 24x3°

3 12x53

4. 3

Correct Answer :-

2135

2) Express the given statement as an algebraic equation:
Rahman adds 52 to a number ‘p’ and then multiplies the sum by 8. This gives the product as 628. /

fou T Y9 B TH SRy GHiEIu & FU A ad B
TEHT 52 P T AL 'p' H SISdT 2 3R ISP qIG AT Hi 8 I N HIT 2 | I8 YU & U H 628 a1 8

1. (52 +p) =628 x 8
2.52+8p =628

3. (px52) + 8 =628
4, 8(p+52) =628
Correct Answer :-

. 8(p+52) = 628

3) Solve / Bﬁﬁﬁ'

(-30) + (-30) ~ 10 - (-30) x (-2)

1.53

Correct Answer :-

« 93

4) The point (-3,5) lies in the quadrant .

g (3.9 aguf & fAfRa gar 81



2. 111
3.1
4.1V

Correct Answer :-

o II

5) The remainder when 4 power 16 is divided by 5 is: /

4P ETE 16 BT 5 FIUTRIG F R W Avwe 1 3:
1.3

2.2

3.0

4.1

Correct Answer :-

6) Using a microscope that magnifies 40,000 times, a bacterium is seen to have a length of 5 cm. If a virus is seen to
have a length of 2 mm using this microscope, then the ratio of its actual size to its enlarged size will be: /

5 ATt AaTS aTa TP SaTY] Bt ST P T Th WIS IRBIY BT UANT fHar SIrar 8 i 40,000 AT fe@Tan 31 af
wn@wﬁumﬁuﬁwﬁzﬁﬁﬁmﬁmﬁﬁwgﬁ%mw%ﬁmmwﬁm
STHR PT ST §HIT:

1. 8000

Correct Answer :-

. 25x1073

7) Find the sum of 11p + 5q — 12r, 4pq + 3q and 4q - 16pq + 6p. /
11p + 5q — 12r, 4pq + 3q TG 4q - 16pq + 6p BT TN JTd B |

1. 12p+12q-12r—12pq

2.12p+8q-12r—10pq

3.17p+12q-12r— 12pq

4.17p+8q-12r+ 12pq

Correct Answer :-

o« 17p+12q-12r-12pq



8) If a sugar cube of side 3 cm push up 2 ml of milk in a glass, then how many sugar cubes are required to pushup
6 ml milk? /

gfe 3 At fpTe areft Nt &1 v gpet ST R T frary A 2 fArcfiedfier gy SR Y sk Isar18, A 6
frefieiier qU o SR IoM & g fvam A+t & gl ot srazawar ghft?

1.25
2.3
3.2

4.4

Correct Answer :-

9) If a school of fish weighs 3 kg and each fish in the school weighs 150g, then the number of fish in the school
is /

qi%wﬁ-m%%wwﬁrwsﬁm%sﬁvwﬁ'm%ﬁmmlsomaa}wﬁwﬁﬁaﬁ
tarc S

1. 10
2.20
3.30

4. 15

Correct Answer :-

10) What is the circumference of circular disc of radius 21cm? /
21 I F B a1el v quTeR S o uRkfr w82
1.132 cm / 132 94T

2.77 cm/ 77 9

3.123 cm/ 123 9

4. 144 cm / 144 T

Correct Answer :-

e 132 cm/ 132 T

11) Rithika had Rs. 750 left in her purse after spending 75% of her money. Find the amount of money she
originally had? /

75% U Td B & g1¢ RIAHT H T T 750 TUT A g9d & 1 J1d B 16 T €U A 9P T forait o=
i

1. Rs. 1000/ 1000 »UUY

2. Rs. 7500 / 7500 ¥YQ



3. Rs. 1500/ 1500 ¥YUQ
4. Rs. 3000 / 3000 UUY

Correct Answer :-

« Rs. 3000 /3000 UTY

12) Amal needs a motorcycle. The motor cycle costs Rs. 92750. He has only Rs. 87150 in his hand. How much
more money does he need to buy the motor cycle? /

3 B TP HIcT JIgfhd B S=d g | HicT JIgfhd B BT 92750 TUT & | IS 1Y H Had 87150 YT
g1 AR Argfra Wdea & fore 3 ok foraq U9 =nfRw?

1. Rs. 5700 / 5700 >UUQ
2. Rs. 5500/ 5500 ¥4UUQ
3. Rs. 5600 / 5600 ¥UUQ
4. Rs. 5650/ 5650 2UUY

Correct Answer :-

« Rs. 5600 /5600 ¥UTQ

13) A student starts for his school at 9.40 a.m. and comes back home at 4.15 p.m. Determine the time spent by him
in the school, if half an hour is spent in coming and going. /

T BT UTd: 9.40 T 3y fAeTery o1 SITdT @ 3R XTH 4.15 T °R a1 3M1a1 1 Tfe 3 va oA # 3me ger
T 8, < faenea A Iue gR1 faae e gwy &1 Ry a3

1.5 hr 4 min / 5 9¢, 4 fiFe
2.5hr/54¢
3.6 hr 5 min/ 6 G¢, 5 e

4.6hr/6HC

Correct Answer :-

« 6 hr5min/69e, 5 fBFe

14) In a 3-digit number, the tens digit is thrice the hundreds digit and the units digit is four times the hundreds
digit. Also, the sum of the digits is 16. Find the number. /

TS I 3] aTelt YL H, G818 BT 3P, AP S & 3P BT oI AT 9UT IPTS BT 3P, B P 3 HT IR AT
21 3HF SraTar A 3T BT TN 16 8 | =T F1d B

1. 268
2. 628
3.286
4. 826

Correct Answer :-

. 268



15) Find the value of k, for which the system of equations kx + 3y =26 and 21x + (k+2)y = 71 + k has infinitely
many solutions? /

%ﬁﬁmmﬁ,mmWﬁﬁmkx+3y=263ﬁ?21x+(k+2)y=71+k333l'\"-ﬂﬁl'da°_§3ﬁ

1.k=9

2.k=7

3.k=6

4.k=0

Correct Answer :-

o k=7

16) Find the square root of 3234310641. /
3234310641 BT YA FTd B
1. 56871

2. 68497

3.1999

4. 38973

Correct Answer :-

» 56871

17) Which of the following is not a perfect cube? /
Fafafea A @ o @ i w8 32

1.343

2.27000

3. 80000

4. 64000

Correct Answer :-

« 80000

18) Find the number 7= 10*+6x103+5x 10P+4x101+5%10%+3 and write it in the standard form. /
Tx104+6x103+35x 1P +4=101+5= 10043 HEAT Ald a1 3 AF &7 7 FE)

1. 76548
, 8.1048 x 104
3. 7.6548 = 104
4, 81.0453 x 104

Correct Answer :-

. 81048 = 10*



19) Solve: / §el ShifAAT:

o

128
1.5
2.7
7
3 2
7
4, %

Multipli cative identity of[_f] / [‘f] $r auTTca® TgTE
1.

2.
; Reciprocal of [_Tf] / [_?a] &l cgohH

—d

4. b
Correct Answer :-

Reciprocal of [_fl] ! [—?a] &I ohH

Topic:- General Science

1) What is the unit of acceleration? /
fAaferfea & & a7 @< fy TE 82
1.cm/s | THE

2. km/h / fepHi/eie

5. m/s? [ FIRP

4. m?/s [HZ

Correct Answer :-



. m/fs? JHER

2) Boneis connectedtoamusclebya ./
T3 T Higush @ ERT St gidt &
1. tendon / S (C8)

2. nerve / AfA®T

3. joint /SIS

4. ligament / A (fevTHe)

Correct Answer :-

« tendon /S (é%q)

3) Identify the viral diseases from the list mentioned below.
i. Typhoid

il. Measles

iii. Dengue fever

iv. Anthrax

v. Malaria

i Sfcafaa i & fawmurfara 3 3t ugaE w31
i. CISWPIgS

i, WORT

iii. ST TR

iv. TR

v. Hafear

1. and ii only / Pad i 3] i
2. ivandvonly/é’ﬂ?ﬁvx’:ﬁ?v
3.iiiand v only /W iii 3R v
4. ii and iii only / T ii 3 i
Correct Answer :-

« ii and iii only / Pad ii 3R iii

4) Identify the abiotic factor which results in storage loss. /

39 399 FRS P! UgdE HIfoE forad TRUmRa=T YSRUT g1+ gl &1

1. Bacteria /\_rﬁa'l'ﬂ

2. Rodents /W
3. Moisture /:ltﬂ

4. Mites / GHH®

Correct Answer :-

« Moisture /:Fﬁ



5) Anil was 150.7 cm tall when he was 12 years old. Now his height is 165.3 cm. His increase in height is: /

3Tre &9 12 T9 BT 4T 99 IHBT HE 150.7 T, 4TI TAHTH & SHBT BE 165.3 TH. &1 31f~rel & Hg & T
FR =T

1.15.6 cm / 15.6 9.
2.13.8 cm/ 13.8 A,
3.1.46 cm/ 1.46 A,
4.14.6 cm / 14.6 T,

Correct Answer :-

« 14.6cm/ 14.6 9.

6) Prawns and butterflies belong to the same phylum because of the presenceof ./
_____ #1 IufRyfa & sror ofim ok foafrai ve & wisaw 4 Wt &

1. bilateral symmetry / WW’&I’%

2. jointed legs /ﬂﬁlﬁa@f

3. antennae /Q_CﬁT‘lT

4. segmented body / ITS ¥ IR

Correct Answer :-

« jointed legs /m‘ﬂ?rﬁfr

7) The rate of evaporation does not depend on which of the following factors? /
arefieRur 3 R Fafifed # @ 5 are w® Ak ad wwdt @

1. Colour of the liquid / &d BT I

2. Wind velocity / Ud- aT

3. Surface area exposed / 3{I9d qd- BB

4. Humidity of air / a1 &1 Mgl

Correct Answer :-

« Colour of the liquid / %d T T

8) The amplitude of vibration is the ./

HUA BT A g gl

1. maximum displacement from the mean position / HI®] T ¥ sfiiman o=
2. maximum sound produced / 3fIpay eaf Idre

3. minimum displacement from the mean position / HI¥] IRIGES] AdH fa=imga

4. number of vibrations in one second / Udh HhUS H HUAT Dt TS

Correct Answer :-

» maximum displacement from the mean position / HI®J ffa T sifrerdw fowimos



9) The acid injected into the skin when an ant bites is: /

o T e Predl 8 df @ d frd ot Y Sfa:fara st @
1. Nitric acid / T3fcd 3

2. Sulphuric acid / W SN

3. Formic acid / Wi 3

4. Acetic acid / Qﬁlﬁ 3T

Correct Answer :-

« Formic acid / B1Hd 3w

10) The ability of an organism to give rise to a whole organism from a small fragment is called /
TS Bic Gs 9 YUl g ¥ gf &3 &1 t oiig 3t &iar ot Fed gl

1. regeneration / E:ITYTT'F[

2. binary fission / @ﬁ"@?ﬂ

3. multiple fission / a@@?ﬁ

4. budding / P

Correct Answer :-

« regeneration / Q:IG&F‘T

11) If we observe that the air is moving from place A to place B, then: /

3R & Ufara Y i 59T RIF A ¥ RIF B R W1 8, an:

1. Place A is at high altitude and place B is at low altitude / ¥ A 3= tﬁn‘s‘ R % \’rﬁT B = Wl_sctl? %I
2. Place A is at high pressure and place B is at low pressure / ¥ A 3= qld U 8N BAF I W B

3. Place B is at high pressure and place A is at low pressure / R4 B 3= qld TR IR AFHIE R

4. Place B is at high altitude and place A is at low altitude / YT B 3= Wlé R % GﬁT NG| W'I_sc R %I

Correct Answer :-

« Place A is at high pressure and place B is at low pressure / ®IT1 A 3= qld R 2R BRI W RI

12) What happens as we go up the mountain? /
W9 §H UETS W SR I¢d & al o1 il g2
1. The temperature increases / dATUHIT dedl % |

2. The pressure increases / 1§ dgdl %I

3. Temperature increases but pressure decreases / ATHHIH dedl % dfh g1 HH _6;1?” %I
4, Both temperature and pressure decreases / ATJHIT 3R @ A ged ]

Correct Answer :-

» Both temperature and pressure decreases / dATTHIA 3R g€ 3l ged %I



13) What will happen to the boiling point of water when a little common salt is added to water and then heated? /
It & HYATP B T SN S ATST IR THS U § STl 9 3R b= TRA fora s
1. Boiling point of water will increase above 373K. /
U &1 YD 373K & SHUR § S|
2. Boiling point of water will first increase and then decrease much below 373K. /
U BT YT Tgd d¢7 3R fhR 373K & = 9gd °e S|
3. Boiling point of water will remain at 373K. /

T BT HYIH 373K TR §1 387

4. Boiling point of water will decrease below 373K. /

T BT HYAIH 373K & HId I S|

Correct Answer :-
« Boiling point of water will increase above 373K. /
U &1 HYFIP 373K B SHUR 9 S|

14) Choose the best method to prevent rusting. /

ST Y A & e Wt st faft 1 7= 33
1. Centrifugation / HSETOIRUT

2. Evaporation / Gl CRU|

3. Galvanization / S&IHRUT

4. Crystallisation / i

Correct Answer :-

« Galvanization / SRTT

15) Sweet potato is an underground structure which stores food. Where is the food prepared in this plant? /
G TP YT AT § Sl WIS S Hafed Bet 71 39 N & HiH $gl W R fomar simar g2
1. Leaves / TRl

2. Fruit/ ™ d

3. Stem / d-l

4, Root / SIS

Correct Answer :-

« Leaves /Tl
16) Plane mirror makes a/an .
qHad ST CRIGI

1. inverted image of the object / 9¥J P Udh 3Tl PIGIEE]



2. enlarged image of the object / 9 P Udh SfYyafdd ufafde
3. real image of the object / G DT U IRcldeh Ufdfed
4. erect image of the object / A¥g D Udh e gfafde

Correct Answer :-

« erect image of the object / A¥J PhT UH Ster gfafds

17) Which of the following is the correct set of isotones? /

fFafafad & 3 o9 a1 qu=ggi-e &1 98l 3¢ 82
ZF & N

Hos 2P

Hca UN

4 iC& 50
Correct Answer :-

s i i

18) Which of the following is an enucleate cell? /

frefafea & @ o19 @ 0 sb=at PR32
1. Fat cell / T IR

2. Ovum / &9

3. Bone cell /31 HIfRaT

4. Human red blood cell / AT ATA Iad BIRBI

Correct Answer :-

« Human red blood cell / ATFd ST Iad DIRIBT

19) Calculate the mass in milligrams of 1022 atoms of U-238./
U-238 % 102 WAET &1 Ao & gegdAne aREfea ST

1.395.2 mg / 395.2 feiom
2.3952 mg / 3952 e
3.238 mg / 238 AU

4. 1022 mg / 102 T8cians

Correct Answer :-

« 3952 mg / 3952 freumy



Twoidentical vessels A and B carrv equal amount of hot water at 73°C. The outer surface of A
is painted black and that of B is painted white. After 10 minutes, if the temperature of A is found
to be 553°C, then the temperature of B will be: /

oF A 9Er AR BH 75°C W &R1e] AT 7 715 Uil §1 A T I6d Tag & el
T 3R B fT @l aag & athg T § Yo AT = §1 10 TBde & S g A ST
dT9dT= 55°C 9T 3141, dl B &l J9H g1

1, 33°C/55°C
less than 55°C / 55°C { &
greater than 55°C / 55°C § Tei&

4, equal to or greater than 55°C /55°C & e AT 399 HEE

Correct Answer :-
greater than 55°C / 55°C § &



